i AGRAS T40

In the Box

YmiBE

TEE

Di dalam Kotak
melundes

Céc thanh phan trong hop
Lieferumfang
Contenido del embalaje
Contenu de I'emballage
Incluido na embalagem
KoMMiekT nocTaBKy
Kutu igerigi

Y KopoOLj

e sl Idgwsd



Check that all of the following items are in your package. If any item is missing, please contact
DJI™ or your local dealer.

ERAERZH, FRELQETPEEASTIMERE. EERNMETRIE, FHE DJI™ FHEN
REB .

CHS TAE0| T7|X| etofl 25 S0 =X EQISHIAR. Y E0| itz glis < DJI™ E= K| 2
ol 2ol5tMAIR.

m

H

3

Py
)

Periksa bahawa semua item berikut ada di dalam bungkusan anda. Jika ada item yang hilang,
sila hubungi DJI™ atau pengedar tempatan anda.

<
[}

= zZ

avadeuildevssmangmiaeblisnasgluusiatuaivesaas mnniidevsssulamsly nsandace DJI™
wSasunudvhglndihugm

-
I

v Kiém tra dé dam bao tit ca cac muc sau co trong hdp san pham cua ban. Néu thiéu, vui long
lién hé v&i DJI™ hodc dai ly & khu vure cla ban.

Bitte Uberprifen Sie, ob alle hier aufgefiihrten Artikel in Ihrer Verpackung enthalten sind. Falls

D
eines oder mehrere Teile fehlen, wenden Sie sich bitte an DJI™ oder an Ilhren Handler vor Ort.

m

Compruebe que el paquete contenga todos los siguientes elementos. Si falta algin componente,
péngase en contacto con DJI™ o con su distribuidor local.

m
2]

Vérifiez que I’emballage de votre produit contient les éléments suivants. S’il manque un ou
plusieurs éléments, contactez DJI™ ou votre revendeur local.

py)

PT-BR Verifique se todos os itens seguintes estdo na embalagem. Se faltar algum item, contate a DJI™
ou seu revendedor local.

Y6enmtech, 4TO B BalleM KOMMIEKTE NOCTaBKM MMEIOTCS BCE HUXKENepeUncrneHHble NpeaMeThl.

RU
Ecnn kakoi-nn6o npegMeT OTCYTCTBYeT, CBSXMUTechb ¢ komnaHuein DJI™ unn mecTHbIM
npeacTaBuTenem.

TR Asagidakilerin tamaminin ambalajinizda mevcut oldugunu kontrol edin. Herhangi bir 6ge eksik
ise liitfen DJI™ ile veya yerel bayinizle iletisime gecin.

[NepekoHanTecs, WO BCi NepeniyeHi HK4Ye NpeaMeTy € y BalwoMy KOMMNEKTi. AKLOo SKOorocb
npenmeta Hemae, 3BepHiTeest Ao DJI™ a6o fo Micuesoro aunepa.

C
~

A

o)

ol g35a)l za sl DI™ ma Lol 25y dgin yais ol 3525 pas Il 3 ey dolsd) Ssnll (3 &I olisll gooz 3525 o 3205



Aircraft Tool Box

== <IN TEE

7| ST SR

Pesawat Kotak Alat

Tosu nasaLaTeatie

May bay Hop céng cu
Fluggerat Werkzeugbox
Aeronave Caja de herramientas
Appareil Boite a outils
Aeronave Caixa de ferramentas
LpoH Habop MHCTpyMeHTOB
Hava Araci Alet Kutusu

JlitaneHuin anapat Kopobka 3 iHCTpymMeHTammn

8,5l SVl saro

The tool box includes the following items:
TEEREEUTYMm:

37 dRoll= L2 22 4 E0| S0 ASLICH.
Kotak alat merangkumi item berikut:
nasatatessledsznoudhememssioladil:

Hop céng cu bao gém céc chi tiét sau:

Die Werkzeugbox enthalt folgende Gegenstande:
La caja de herramientas incluye los siguientes elementos:
La boite a outils inclut les éléments suivants :

A caixa de ferramentas inclui os seguintes itens:
CocTasnstioLme Habopa UHCTPYMEHTOB:

Arag kutusu asagidakileri icerir:

Kopo6ka iHCTPYMEHTIB MICTWUTb Taki efleMeHTU:

SEOpd 00393 WIsslS Ui g oloes 11 s8:

x1

Air-Cooled Heat Sink

[RI SRR RS

SUA BEH

Singki Haba Disejukkan Udara
AATLNBANNTDUMBINA

Tan nhiét bang khong khi
Luftgekuhlter Kthlkdrper

Disipador térmico con refrigeracion
de aire

Dissipateur thermique refroidi par air
Dissipadores de calor resfriados a ar
TennooTBoz C BO3AYLLUHbIM
OX/KAEHNEM

Hava Sogutmall Sogutucu

Tennosiagig 3 NOBITPSHNM
OXONOLPKEHHSM

elsglls 33 @l p29>

Remote Controller
Eines
ez
Alat Kawalan Jauh
Slunaoulnsa
Bo Biéu khién tir xa
Fernsteuerung
Control remoto
Radiocommande
Controle remoto
MynbT ynpasneHus
Uzaktan Kumanda
MpucTpilt AUcTaHUiMHOrO
KepyBaHHs

5g8 IJopde g0 S



x1

Remote Controller Strap

B RN

2B AEHY

Tali Alat Kawalan Jauh

wavUsashunaoulnga

Day deo bo diéu khién tir xa

Tragegurt fur Fernsteuerung

Correa del control remoto

Sangle de la radiocommande

Tira do controle remoto

PeMeHb 015t nepeHoCKy NynbTa yrnpasneHns

Uzaktan Kumanda Kayis

PeMiHb 415 NPUCTPOIO ANCTaHUIMHOrO KepyBaHHS
4 ge oSoull Bug plie

x1

1 o

65W Portable Charger*

65W (EHEFTESS

65W FCIE 5%7|

Pengecas Mudah Alih 65W*

A$ausvwann BEW*

B6 sac di dong 65W*

Tragbares Ladegerat*, 65 W

Cargador portétil de 65 W*

Chargeur portable 65 W*

Carregador portatil 65 W*

[MopTaTvBHOE 3apsiaHoe ycTponcTeo 65 BT*

65 W Tasinabilir Sarj Cihazi*

MopTaTvBHU 3apsaHVA NpucTpin 65 BT*
*bly B5 398 Jgammas ools

x1

USB-C Cable
USB-C {&#a4R
USB-C #0|l=
Kabel USB-C
#1w USB-C
Cép USB-C
USB-C-Kabel
Cable USB-C
Céable USB-C
Cabo USB-C
Kabenb USB-C
USB-C Kablosu
Kabenb USB-C

USB-C yss

* This item comes in a separate package and may vary
depending on the country or region.

IR TBIEERN, BMREERIIEESHRAE .

* 0] pEES E W7 [X|0f MBE0 Z7F L= X[Hof w2t o

= AFLICEH

Item ini datang dalam pakej yang berasingan dan mungkin

berbeza-beza bergantung pada negara atau wilayah.

* immsimw%mnﬁ'ﬂmiqn"m*ﬁﬁ‘wmm‘w‘mﬂu,a:;ma»mﬂm‘wﬁﬂﬂm\ma:ﬁhm
nAnsagdma

* Chi tiét nay ¢6 trong mot géi san phém riéng va c6 thé thay

doi thy theo quéc gia hodc khu vurc.

Dieser Gegenstand wird in einem separaten Paket geliefert

und kann je nach Land oder Region variieren.

Este articulo viene en un paquete separado y puede variar

segln el pais o la region.

Cet élément est livré dans un emballage séparé et peut

varier selon le pays ou la région.

Este item vem em um pacote separado e pode variar

dependendo do pais ou regido.

STOT KOMMOHEHT MOCTaBSIETCS B OTAE/bHOM Habope

N MOXEeT OT/INMYaTbCs B 3aBUCUMOCTU OT CTPaHbl Wan

pervioHa.

* Bu Urlin ayn bir pakette sunulur ve Ulkeye veya bolgeye gore
farkliik gosterebilir.

Llen ToBap nocTayaeTbCs B OKPEMOMY MaKyHKY i MOXe
BiAPIHATICA 3a/1€XKHO Bif KpaiHn abo perioHy.

(Akail) s AL) oo alzsS 035 dlaiis dojo G dshill ode 3B



Tools

2.5 mm Hex Key

3.0 mm Hex Key

4.0 mm Hex Key
Double-Ended Wrench

T

2.5 mm RRABIRF
3.0 mm A7AEIRF
4.0 mm A7BIRFE
SEZERERTF

=

2.5mm S2 7|
3.0mm £2 7|
4.0mm 2 7|

7 2|

Alat

Kunci Allen 2.5 mm
Kunci Allen 3.0 mm

Kunci Allen 4.0 mm
Sepana Dua Hujung
\adeaiio

eywanniuass 2.5 s,
neyuanniuass 3.0 ws.
namavinuss 4.0 s

Jszuarmsaesiu

Dung cu

Chia khoa déu luc giac 2,5mm
Chia khoa dau luc giac 3mm
Chia khoa dau luc giac 4mm
Co 1& hai dau

Werkzeuge
Sechskantschlissel, 2,5 mm
Sechskantschlissel, 3,0 mm
Sechskantschltissel, 4,0 mm
Doppelschraubenschlissel

Herramientas

Llave Allen de 2.5 mm
Llave Allen de 3.0 mm
Llave Allen de 4.0 mm
Llave inglesa doble

Outils

Clé hexagonale de 2,5 mm
Clé hexagonale de 3,0 mm
Clé hexagonale de 4,0 mm
Clé & double embout

Ferramentas

Chave sextavada de 2,5 mm
Chave sextavada de 3,0 mm
Chave sextavada de 4,0 mm
Chave de boca dupla

VHCTpyMeHTbI

LLlecTurpanHbii koY, 2,5 MM
LLlecTurpanHbin kntod, 3,0 MM
LLlecTurpanHbii Koy, 4,0 MM
[IBYXCTOPOHHUIN raeyHbIn Koy

Aletler

2,5 mm Alyan Anahtari
3,0 mm Alyan Anahtari
4,0 mm Alyan Anahtari
Cift Uclu Anahtar

IHCTPYMEHTN

LLlecTurpaHHuii kntoy 2,5 Mm
LecTurpanHumiz kntod 3,0 Mm
LLlecTurpanHuii kntoy 4,0 mm
JIBOCTOPOHHII rafkoBuiA Koy

[N

pB0l polous 2.5 pp

pBle wolons 3.0 ¢p

pl0le poloms 4.0 o

pO0I sob SUlss IJoelglos

®

o0

=10

Screws and Other Accessories
Propeller Washers
Single-Layer Centrifugal Disk

M3x10 Screws, M4x14 Screws,
M4x25 Screws, M5x10 Screws,

M4 Nuts

BRI, IR REMEM
[=ynd sy

BERLE

M3 x 10 $24%. M4 x 14 &
M4 x 25 124
M4 $2E
LEAF 2 7|EF HiAf2]
D232 ofN

chel 2jojof YA CjA3
M3x10 LEAE, M4x14 LIAL,
M4x25 LEAE, M5x10 LHAL,
M4 HE

Skru dan Aksesori Lain
Pencuci Bebaling

Cakera Empar Satu Lapisan
Skru M3x10, Skru M4x14,

#.

Skru M4x25, Skru M5x10,
Nat M4
an'guagqﬂnmhaimé‘uq
winusasluwe
aumsmisusudido

an3 M3x10, an3 Mdx14,

ang M4x25, an3 M5x10

den M4

Gc vit va Phy kién khac
Vong dém canh quat

Bia ly tam mét Iép

Oc vit M3x10, Oc vit Max14,
Bc vit M4x25, Oc vit M5x10,
Bc M4

Schrauben und anderes Zubehor
Propellerscheiben
Einschichtige Zentrifugalscheibe

M3x10-Schrauben, M4x14-Schrauben,
M4x25-Schrauben, M5x10-Schrauben,

M4-Muttern

Tornillos y otros accesorios
Arandelas de hélice

Disco centrifugo de una sola capa
Tornillos M3 x10, tornillos M4 x14,
Tornillos M4 x25, tornillos M5 x10,
Tuercas M4

Vis et autres accessoires
Rondelles pour hélices

Disque centrifuge monocouche
Vis M3 x 10, Vis M4 x 14,

Vis M4 x 25, vis M5 x 10,

Ecrous M4

Parafusos e outros acessorios
Arruelas de hélice
Disco centrifugo de camada Unica

Parafusos M3x10, Parafusos M4x14,
Parafusos M4x25, Parafusos M5x10,

Porcas M4

BuHTbI 1 Apyrue akceccyapbl
LLlain6bl Ans nponesinepos

OfHOCNONHBIA LIEHTPOGEXHDIV AVICK

BuHTbI M3x10, BUHTbI M4x 14,
BUHTbI M4 x 25, BUHTBI M5 x 10,
lankun M4

Vidalar ve Diger Aksesuarlar
Pervane Pullan

Tek Katmanli Santriflj Disk
M3x10 Vida, M4x14 Vida,
M4x25 Vida, M5x10 Vida,
M4 Somunlar

BUHTK Ta iHLWI akcecyapun
MponenepHi warnbu

OfHOLWapOBIIA LIEHTPOBKHMIN AMCK

BUHTU M3x10, rBuHT M4x14,
BUHTU M4x25, rBuHT M5x10,
akn M4

Wolg IIdoumslso Wigss

SUIIS pszd

G b3 1Wpsdis Tl IUbw@s
ot M3x10: woles M4x14.
ilts M4x25: Cilgs M5x 10

wilegd M4



=

Manuals

In the Box

Disclaimer and Safety Guidelines
Quick Start Guide

Air-Cooled Heat Sink Product Information

X

MRBE
REBPHELLRESH
PRI PIHER

BB ERE N
Ot

THE

OX| Ate & ok THojE

2| AEIE Jj0|=

YA SEMIAME F2

Manual

Di dalam Kotak

Penafian dan Panduan Keselamatan
Panduan Mula Pantas

Maklumat Produk Singki Haba Disejuk-
kan Udara

dslo

melundos
doavamaniuaziuuzinguanudasasiy
gioidalldnuatuge
doyanandmaigasznsanusoudisnme

Huéng dan sir dung

Céc thanh phan trong hop

Tuyén b8 khude tur trach nhiém va
Huéng dén an toan

Huéng dan sir dung nhanh
Thong tin san pham Tan nhiét bang
khong khi
Bedienungsanleitungen
Lieferumfang

Haftungsausschluss und
Sicherheitsvorschriften
Kurzanleitung
Produktinformationen fir den
luftgekiihlten Kihlkorper

Manuales

Contenido del embalaje

Renuncia de responsabilidad y
directrices de seguridad

Gufa de inicio rapido

Informacién del producto del disipador
térmico con refrigeracion de aire

Manuels

Contenu de I'emballage

Clauses d’exclusion de responsabilité et
consignes de sécurité

Guide de démarrage rapide
Informations produit du dissipateur
thermique refroidi par air

Manuais
Incluido na embalagem
Isengéo de Responsabilidade e Diretrizes

de Seguranga

Guia de Inicio Rapido

Informagdes sobre o dissipador de calor
refrigerado a ar

Pykosoactea

KomnnekT noctaskut

3asBreHvie 06 oTkase oT
OTBETCTBEHHOCTU U PYKOBOACTBO MO
TexHuke HeaonacHocTn

KpaTkoe pykoBoACTBO
VIHbopmaLmia o TennooTeoge ¢
BO3/IYLLHbIM OX/TXKAEHEM

Kilavuzlar

Kutu igerigi

Sorumluluk Reddi ve Guvenlik Kilavuzlari
Hizl Baslangi¢ Kilavuzu

Hava Sogutmall Sogutucu Uriin Bilgileri

Moci6Hukn
Y kopobuj
BigmMoBa Big, BignoBiganeHOCTI Ta iHCTPYKLI
3 TexHiku 6e3nexkn
KopoTkuin NnocibH1K KopucTyBada
IHdhopmaLs Npo TennoBiaBiA 3 NOBITPSHM
OXOJOMKEHHSM
dogolo
e
13l Wpus3sdigd sbhpdIS 1gedlipd
3Jgd oGt sd Idoose
pedsplo po0E Wgaw gl IJpwds Cldesls

In some countries and regions, Intelligent Flight Batteries are included in the package.

BB BEIZRSIEIRA B 2 E R TR .

AR 27+ X0l A QI—HZ|HE Z210|E BiE(2|= TF|X| ool ZHE|] AELICH

Di sesetengah negara dan wilayah, Bateri Penerbangan Pintar disertakan dalam pakej.

lunedszmauazgima uuaaeslasusaaiy

zrampgluniaing

& mét s6 qudc gia va khu virc, Pin may bay théng minh dugc cung cép trong hop san pham.

In einigen Landern und Regionen ist die Intelligent Flight Battery im Lieferumfang enthalten.

En algunos paises y regiones, las baterfas de vuelo inteligentes vienen incluidas en el embalaje.
Dans certains pays et régions, les Batterie de Vol Intelligente sont incluses dans I'emballage.

Em alguns paises e regides, as Baterias de Voo Inteligente estao incluidas na embalagem.

B HekoTopbIx CTpaHax 1 pernoHax akkymynstopel Intelligent Flight Battery BktoueHbl B KOMMeKT.
Baz Ulkelerde ve bdlgelerde Akl Ugus Bataryalar kutu igerigine dahildir.
Y peskvx kpaiHax i perioHax 40 KOMIMIEKTY BXOOATb iHTeNeKTyanbHi 60pToBi akyMynsTopu.

B 0goe IWoUsl) sldpdlbd: gOp Guppgd ©blLGIO IJbe)lo IUsds B Idgses.

Download the user manual for more information:
https://Awww.dji.com/t40/downloads

% The content is subject to change without prior notice.

c!l' and AGRAS are trademarks of DJI.
Copyright © 2022 DJI All Rights Reserved.

YCBZSS00193301






